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Chapter 8 Working Capital Management
I.
Objectives of Working Capital Management
	Question 1

(a)
Discuss whether profitability or liquidity is the primary objective of working capital management.
(4 marks)


(ACCA F9 Financial Management June 2010 Q1(c))
(b)
Outline the advantages to a company of taking steps to improve its working capital management, giving examples of steps that might be taken.
(7 marks)


(ACCA 2.4 Financial Management and Control June 2003 Q3(d))


II.
Cash Operating Cycle

1.
1
An increase in the period of credit given by suppliers

2
A decrease in the period of credit given by suppliers

3
An increase in the period of credit given to customers

4
A decrease in the period of credit given to customers
Which of the above will increase the length of the cash operating cycle?

A
1 & 3 only

B
2 & 4 only

C
2 & 3 only

D
1 & 4 only
2.
Sanderling Ltd buys raw materials from suppliers on six weeks’ credit, which are delivered immediately. The raw materials are held in stock for four weeks before being issued to production. The production process takes three weeks and the finished goods are held in stock for two weeks before being sold on credit. Customers are allowed eight weeks’ credit and pay promptly at the end of the period.
What is the length of the operating cash cycle of the business?
A
19 weeks

B
11 weeks

C
17 weeks

D
23 weeks
3.
Which one of the following equations describes the operating cash cycle?
A
Average stock turnover period + average creditor payment period – average debt collection period

B
Average stock turnover period + average debt collection period – average creditor payment period

C
Average cash balance + average debt collection period – average creditor payment period

D
Average cash balance – average debt collection period + average creditor payment period
4.
Dunelm (Engineering) Co buys raw materials from suppliers on four weeks’ credit and they are delivered immediately. When the raw materials are received, they are held in the warehouse for five weeks before being used in production. The production process takes one week and the completed goods are held for two weeks before finally being sold to credit customers. These customers are allowed a maximum credit period of six weeks but pay after three weeks in order to obtain a discount for prompt settlement.
What is the opening cash cycle of the business?
A
7 weeks

B
10 weeks

C
11 weeks

D
12 weeks
5.
The following information has been calculated for A Co:
Trade receivables collection period
52 days

Raw material inventory turnover period
42 days

Work in progress inventory turnover period
30 days

Trade payables payment period
66 days

Finished goods inventory turnover period
45 days
What is the length of the working capital cycle?
A
103 days

B
131 days

C
235 days

D
31 days



(ACCA F9 Financial Management Pilot Paper 2014)
6.
The following amounts are taken from a company’s latest financial statements:
Sales revenue
$3,074,000

Cost of sales
$1,884,000

Inventories
$160,000

Trade receivables
$514,000

Trade payables
$325,000

Based on the above amounts, what is the cash cycle of the company? (Assume one year is 365 days)
A
21 days

B
29 days

C
41 days

D
68 days
7.
D Co decides to offer a 2% early settlement discount that half of all customers take up. They pay in 1 month instead of the usual 2. D Co pays 10% per annum for its overdraft facility.
What impact will this have?

	
	Cash operating cycle
	Reported profits

	A
	Reduce
	Increase

	B
	Unaffected
	Increase

	C
	Reduce
	Reduce

	D
	Unaffected
	Reduce


III.
Working Capital Ratio

8.
Sourton Ltd wishes to forecast its financial performance and position for the forthcoming year. The forecast model used by the company incorporates the following relationships:
Sales: non-current assets
2·4:1

Non-current assets: current assets
0·8:1

Current ratio
1·0:1

Acid-test ratio
0·6:1
The sales for the forthcoming year are expected to be $50 million
What is the forecast level of inventory to be held at the end of the year?
A
$60·0m

B
$38·4m

C
$10·4m

D
$6·0m
9.
Extracts from a company’s accounts show the following balances:

	
	$000

	Inventories
	114

	Receivables
	216

	Cash
	42

	Payables
	180

	Loans
	60


Which of the following is the company’s quick ratio, calculated to the nearest two decimal places?

A
1.55

B
1.08

C
2.07

D
1.43

The following information relates to questions 10 and 11
	Annual sales
	$2,500,000

	Costs as a percentages of sales:
	

	Raw materials
	10%

	Direct labour
	15%

	Production overhead
	5%

	
	

	Working capital statistics:
	

	Average raw materials holding period
	4 weeks

	Average finished goods holding period
	2 weeks

	Average receivables collection period
	6 weeks

	Average payables collection period
	8 weeks


All finished goods values include raw materials, direct labour and production overheads. Assume there are 52 weeks in the year.
10.
How much working capital is required to finance goods inventory, to the nearest $?

A
$28,846

B
$9,615

C
$57,962

D
$24,038

11.
How much working capital is required to finance receivables?

A
$384,615

B
$86,538

C
$115,385

D
$288,462
12.
The following data relates to a manufacturing company:

	Average finished goods inventory
	$25,000

	Average raw materials inventory
	$15,000

	Average WIP
	$30,000

	Sales for the period
	$400,000

	Gross profit margin
	25%


WIP is 50% complete as regards materials and conversion costs.
What is the average production period (work-in-progress) to the nearest whole day?
A
37 days

B
73 days

C
30 days

D
18 days
13.
Which of the following best describes overtrading?
A
Selling more than you can manufacture and/or you hold in inventory.

B
Having too much working capital thus reducing profitability.

C
Selling stocks and shares outside the stock exchange opening hours.

D
Suffering liquidity issues as a result of growing too quickly.
14.
An investor undertook a ratio analysis of the most recent financial statements of Calcaria Co and concluded that the company was over-capitalised.
Which one of the following ratios would be consistent with this condition?
A
A short average settlement period for receivables

B
A long inventory-holding period

C
A long average settlement period for payables

D
A high sales to working capital ratio
15.
Which one of the following may indicate that a business is over-capitalised?
A
A higher-than-average debt to equity ratio

B
A lower-than-average acid-test ratio

C
A lower-than-average sales to working capital ratio

D
A higher-than-average net profit margin
16.
An analysis of the financial statements of a business reveals the following financial ratios:
1.
A higher than average inventory holding period

2.
A higher than average payment period for trade payables

3.
A lower than average current ratio

4.
A lower than average sales to working capital ratio
Which TWO of the above is consistent with a business being over-capitalised?
A
1 and 2

B
1 and 4

C
2 and 3

D
3 and 4
17.
The management of Uruk Co feels that the company is over-capitalised and have cited the following statements to support their view.
1.
Over-capitalisation is indicated by lower-than-average sales revenue to working capital ratio.

2.
Over-capitalisation is indicated by higher-than-average debt to equity ratio.
Which of the following combinations (true/false) concerning the above statements is correct?
	
	Statement 1
	Statement 2

	A
	True
	True

	B
	True
	False

	C
	False
	True

	D
	False
	False


18.
The forecast balance sheet of Charon plc for the forthcoming year is based on the following relationships:
Current ratio
2:1

Sales: current assets
5:1

Acid-test ratio
1·5:1

If sales for the coming year are expected to be $30 million, what is the value of stocks that will appear in the forecast balance sheet?
A
$1·5m

B
$3·0m

C
$4·5m

D
$10·5m

19.
Akkadia Co expects sales revenue of $20 million for the coming year. It also aims to achieve the following ratios: current ratio of 2.5:1; sales revenue to current assets of 4:1; and acid test ratio of 2:1.
Based on this, what will be the forecast inventory?
A
$1 million

B
$3 million

C
$4 million

D
$6 million
20.
MM Co sells some inventory on credit for a profit.
All else being equal, what will happen to the quick and current ratio after this sale?
	
	Quick ratio
	Current ratio

	A
	Increase
	Decrease

	B
	No change
	Increase

	C
	Increase
	No change

	D
	Increase
	Increase


21.
A company sells inventory for cash to a customer, at a selling price which is below the cost of the inventory items.
How will this transaction affect the current ratio and the quick ratio immediately after the transaction?

	
	Current ratio
	Quick ratio

	A
	Increase
	Increase

	B
	Increase
	Decrease

	C
	Decrease
	Increase

	D
	Decrease
	No change


	Question 2 – Interest Rate Risk, Overtrading and Factoring

The following financial information related to Gorwa Co:
2007

2006

$000

$000

Sales (all on credit)

37,400

26,720

Cost of sales

34,408

23,781

Operating profit

2,992

2,939

Finance costs (interest payments)

355

274

Profit before taxation

2,637

2,665

Statement of financial position

2007
2006
$000

$000

$000

$000

Non-current assets

13,632
12,750
Current assets

Inventory

4,600
2,400
Trade receivables
4,600

2,200

9,200

4,600

Current liabilities

Trade payables

4,750

2,000

Overdraft

3,225

1,600

7,975

3,600

Net current assets

1,225
1,000
14,857

13,750

8% Bonds

2,425

2,425

12,432

11,325

Capital and reserves

Share capital

6,000

6,000

Reserves

6,432

5,325

12,432

11,325

The average variable overdraft interest rate in each year was 5%. The 8% bonds are redeemable in ten years’ time.
A factor has offered to take over the administration of trade receivables on a non-recourse basis for an annual fee of 3% of credit sales. The factor will maintain a trade receivables collection period of 30 days and Gorwa Co will save $100,000 per year in administration costs and $350,000 per year in bad debts. A condition of the factoring agreement is that the factor would advance 80% of the face value of receivables at an annual interest rate of 7%.
Required:
(a)
Discuss, with supporting calculations, the possible effects on Gorwa Co of an increase in interest rates and advise the company of steps it can take to protect itself against interest rate risk.
(7 marks)
(b)
Use the above financial information to discuss, with supporting calculations, whether or not Gorwa Co is overtrading.
(10 marks)
(c)
Evaluate whether the proposal to factor trade receivables is financially acceptable. Assume an average cost of short-term finance in this part of the question only.


(8 marks)


(Total 25 marks)


(ACCA F9 Financial Management December 2008 Q2)


	Question 3 – Operating cycle, current ratio, key elements of receivables
TGA Co, a multinational company, has annual credit sales of $5·4 million and related cost of sales are $2·16 million. Approximately half of all credit sales are exports to a European country, which are invoiced in euros. Financial information relating to TGA Co is as follows:
$000

$000

Inventory

473.4

Trade receivables

1,331.5

1,804.9

Trade payables

177.5

Overdraft

1,326.6

1,504.1

Net working capital

300.8

TGA Co plans to change working capital policy in order to improve its profitability. This policy change will not affect the current levels of credit sales, cost of sales or net working capital. As a result of the policy change, the following working capital ratio values are expected:
Inventory days

50 days

Trade receivables days

62 days

Trade payables days

45 days

Other relevant financial information is as follows:

Short-term borrowing rate

5% per year

Short-term dollar deposit rate

4% per year
Assume there are 365 days in each year.

Required:

(a)
For the change in working capital policy, calculate the change in the operating cycle, the effect on the current ratio and the finance cost saving. Comment on your findings.


(8 marks)
(b)
Discuss the key elements of a trade receivables management policy.
(7 marks)


(15 marks)



(ACCA F9 Financial Management June 2013 Q3(a)&(b))


Chapter 9 Managing Inventory, Accounts Receivable and Accounts Payable
I.
Inventory

1.
Beardown Supplies plc holds an item in stock with the following supplier lead times and consumption rates:
	
	Maximum
	Minimum

	Daily consumption
	40 units
	25 units

	Supplier lead times
	12 days
	2 days


The economic order quantity for this item is 400 units and company policy is to maintain a buffer stock of 200 units at all times.
What is the highest possible number of units of the item that could be held in stock?

A
1,080

B
1,030

C
600

D
550
2.
Which of the following are assumptions used when calculating the economic order quantity for inventory?

(i)
Lead time is constant

(ii)
Demand is constant

(iii)
Purchase costs are constant

A
All three

B
(i) and (ii) only

C
(i) and (iii) only

D
(ii) and (iii) only
3.
According to a colleague, the basic economic order quantity (EOQ) inventory model is based on a number of limiting assumptions, which include the following:
1.
lead times are constant or zero

2.
selling prices remain constant

3.
demand is constant

4.
the purchase price of inventory items remains constant
Which TWO of the above assumptions are correct?
A
1 and 2

B
1 and 3

C
2 and 4

D
3 and 4
4.
Which of the following is NOT generally a benefit of a ‘just in time’ approach?
A
Lower inventory levels

B
Better product customisation

C
Ease of production scheduling

D
Higher quality

5.
The following statements have been made about the probable long-term effects of introducing a just-in-time system of inventory management:
(i)
Inventory holding costs increase

(ii)
Labour productivity improves

(iii)
Manufacturing lead times decrease
Which of the above statements is true?
A
(i), (ii) and (iii)

B
(i) and (ii) only

C
(i) and (iii) only

D
(ii) and (iii) only
6.
Which of the following would be LEAST likely to arise from the introduction of a just-in-time inventory ordering system?
A
Lower inventory holding costs

B
Less risk of inventory shortages

C
More frequent deliveries

D
Increased dependence on suppliers
7.
Which of the following is an aim of a just in time system of inventory control?
A
Increase in capital tie up in inventory

B
Creation of an inflexible production process

C
Elimination of all activities performed that do not add value

D
Lowering of inventory ordering costs
8.
A retailer sells 25,000 units of a particular product each year and the demand for the product is even throughout the year. The purchase price of the product is $4 per unit. The cost of placing each order for the product is $10, the cost of holding one unit in stock for one year is $2 and the economic order quantity is 500 units.
What is the total annual cost of trading in this particular product?
A
$100,500

B
$101,000

C
$101,500

D
$102,500
9.
A company holds an item in stock that has the following supplier lead times and consumption rates:
	
	Maximum
	Minimum
	Average

	Daily consumption
	50 units
	20 units
	25 units

	Supplier lead times
	10 days
	2 days
	5 days


The economic order quantity for this unit of stock is 650 units and the re-order level is 500 units.
What is the highest possible number of units of the item that could be held in stock?
A
1,150

B
1,110

C
1,025

D
650
10.
A business keeps an item in stock for which demand is 30,000 units per year. The cost of placing an order for the item is $40 and the cost of holding one unit of the item is $0·60 per year. The business uses the economic order quantity (EOQ) approach to derive the optimal order quantity for the item. Demand for the item is even throughout the year.
What is the combined annual cost of stock holding and stock ordering for the item?
A
$1,200

B
$1,800

C
$40,600

D
$41,200

11.
A retailer sells 80,000 units of a particular product each year and demand for the product is even throughout the year. The cost of placing each order for the product is $12, the cost of holding one unit in stock for one year is $6 and the retailer orders in batches of 1,600 units. A buffer stock of 10,000 units is held throughout the year.
What is the combined annual cost of ordering and holding this particular product?
A
$5,400

B
$10,200

C
$65,400

D
$70,200

12.
Lechtal Co sells a particular product for which it pays $6 per unit. Annual sales are 60,000 units and demand accrues evenly throughout the year. The cost of ordering the product is $15 per order and the inventory cost of holding one unit of the product for one year is $3. It is Lechtal Co’s policy to have an order quantity of 1,200.

What is the total annual cost to the business of trading in this product?

A
$360,750

B
$361,800

C
$362,550

D
$364,550
13.
To aid financial planning, Elburz Co has adopted the following target financial ratios for the forthcoming financial year:
Return on equity 10% (using year-end equity figure)

Non-current liabilities: Equity 2:1

Total assets less current liabilities: Current assets 3:1

Current ratio 1:1

Acid test ratio 0·8:1

The net profit after tax for the forthcoming year is forecast to be $500,000.
What will be the forecast level of inventory at the end of the year?
A
$0·5m

B
$1·0m

C
$4·0m

D
$9·0m
14.
ABC Co has calculated the following in relation to its inventories.
	Buffer inventory level
	50 units

	Reorder size
	250 items

	Fixed order costs
	$50 per order

	Cost of holding onto one item pa
	$1.25 pa

	Annual demand
	10,000 items

	Purchase price
	$2 per item


What are the total inventory related costs for a year (to the nearest whole $)?
A
$2,219

B
$22,219

C
$20,894

D
$20,219
	Question 4 – Objectives of working capital management, EOQ, AR management
PKA Co is a European company that sells goods solely within Europe. The recently-appointed financial manager of PKA Co has been investigating the working capital management of the company and has gathered the following information:

Inventory management

The current policy is to order 100,000 units when the inventory level falls to 35,000 units. Forecast demand to meet production requirements during the next year is 625,000 units. The cost of placing and processing an order is €250, while the cost of holding a unit in stores is €0•50 per unit per year. Both costs are expected to be constant during the next year. Orders are received two weeks after being placed with the supplier. You should assume a 50-week year and that demand is constant throughout the year.

Accounts receivable management

Domestic customers are allowed 30 days’ credit, but the financial statements of PKA Co show that the average accounts receivable period in the last financial year was 75 days. The financial manager also noted that bad debts as a percentage of sales, which are all on credit, increased in the last financial year from 5% to 8%.

Required:
(a)
Identify the objectives of working capital management and discuss the conflict that may arise between them.
(3 marks)
(b)
Calculate the cost of the current ordering policy and determine the saving that could be made by using the economic order quantity model.
(7 marks)
(c)
Discuss ways in which PKA Co could improve the management of domestic accounts receivable.
(7 marks)

(ACCA F9 Financial Management December 2007 Q4(a), (b) & (c))


	Question 5 – Changes in receivables policy, bulk purchase discount, reasons for holding cash and factors in formulating receivables management policy
KXP Co is an e-business which trades solely over the internet. In the last year the company had sales of $15 million. All sales were on 30 days’ credit to commercial customers.
Extracts from the company’s most recent statement of financial position relating to working capital are as follows:
$000

Trade receivables

2,466

Trade payables

2,220

Overdraft

3,000

In order to encourage customers to pay on time, KXP Co proposes introducing an early settlement discount of 1% for payment within 30 days, while increasing its normal credit period to 45 days. It is expected that, on average, 50% of customers will take the discount and pay within 30 days, 30% of customers will pay after 45 days, and 20% of customers will not change their current paying behaviour.
KXP Co currently orders 15,000 units per month of Product Z, demand for which is constant. There is only one supplier of Product Z and the cost of Product Z purchases over the last year was $540,000. The supplier has offered a 2% discount for orders of Product Z of 30,000 units or more. Each order costs KXP Co $150 to place and the holding cost is 24 cents per unit per year.
KXP Co has an overdraft facility charging interest of 6% per year.
Required:
(a)
Calculate the net benefit or cost of the proposed changes in trade receivables policy and comment on your findings.
(6 marks)

(b)
Calculate whether the bulk purchase discount offered by the supplier is financially acceptable and comment on the assumptions made by your calculation.
(6 marks)

(c)
Identify and discuss the factors to be considered in determining the optimum level of cash to be held by a company.
(5 marks)

(d)
Discuss the factors to be considered in formulating a trade receivables management policy.
(8 marks)


(25 marks)

(ACCA F9 Financial Management December 2012 Q2)


	Question 6 – Just-in-time

PS Co has an opportunity to engage in a just-in-time inventory delivery arrangement with its main customer, who normally takes 90 days to settle accounts with PS Co. The customer accounts for 20% of PS Co's annual turnover of $20 million. This involves borrowing $0.5m on overdraft to invest in dedicated handling and transport equipment. This would be depreciated over five years on a straight-line basis. The customer is uninterested in the early payment discount but would be prepared to settle after 60 days and to pay a premium of 5% over the present price in exchange for guarantees regarding product quality and delivery. PS Co judges the probability of failing to meet these guarantees in any one year at 5%. Failure would trigger a penalty payment of 10% of the value of total sales to this customer (including the premium). PS Co borrows from the bank at 13%.
Required:

(a)
Calculate the improvement in profits before tax to be expected in the first trading year after entering into the JIT arrangement. Comment on your results.
(8 marks)

(b)
Briefly describe the benefits and disadvantages of a just-in-time (JIT) procurement policy.
(7 marks)



(15 marks)


II.
Accounts receivable
15.
A company is considering increasing its credit period to customers from one month to two months. Annual revenue is currently $1,200,000. It is expected that the increased credit period would increase sales by 25% and result in an increase in profit of $45,000, before any INCREASE in finance charges have been taken into account. The company’s cost of capital is 10%.

What is the financial effect of this proposal, after taking into account any increase in finance charges?

A
Increase in profit of $35,000

B
Decrease in profit of $35,000

C
Increase in profit of $30,000

D
Decrease in profit of $30,000

16.
XYZ Co has annual credit sales of $20 million and accounts receivable of $4 million. Working capital is financed by an overdraft at 12% interest per year. Assume 365 days in a year.
What is the annual financial effect if management reduces the collection period to 60 days by offering an early settlement discount of 1% that all customers adopt?
A
$85,479 benefit

B
$114,521 cost

C
$85,479 cost

D
$285,479 benefit
17.
Consider the following two statements:
1.
Invoice discounting requires the discounter to take responsibility for collecting all the trade debts outstanding.

2.
An operating lease agreement transfers most of the risks and rewards associated with the leased asset to the lessee.
Which one of the following combinations relating to the above statements is correct?
	
	Statement 1
	Statement 2

	A
	True
	True

	B
	True
	False

	C
	False
	True

	D
	False
	False


18.
Consider the following two statements concerning invoice discounting:
An invoice discounter will take on:
1.
the administration of receivables of the client business.

2.
responsibility for any bad debts relating to discounted invoices.

Which one of the following combinations (true/false) relating to the above statements is correct?
	
	Statement 1
	Statement 2

	A
	True
	True

	B
	True
	False

	C
	False
	True

	D
	False
	False


19.
Which of the following services may be provided by a debt factor?
1
Bad debt insurance

2
Advancement of credit

3
Receivables ledger management

4
Management of debt collection processes
A
1, 2 and 4 only

B
1 and 4 only

C
1, 2 and 3 only

D
1, 2, 3 and 4
20.
Which of the following is least likely to be used in the management of foreign accounts receivable?
A
Letters of credit

B
Bills of exchange

C
Invoice discounting

D
Commercial paper
21.
ABC Co offers an early settlement discount of 2% to its customers if they pay cash instead of taking 60 days' credit.
What is the annualised percentage cost of this discount to ABC?

A
12%

B
13%

C
6%

D
18%
22.
Which of the following would not be a key aspect of a company’s accounts receivable credit policy?

A
Assessing creditworthiness

B
Checking credit limits

C
Invoicing promptly and collecting overdue debts

D
Delaying payments to obtain a free source of finance.

23.
The management of XYZ Co has annual credit sales of $20 million and accounts receivable of $4 million. Working capital is financed by an overdraft at 12% interest per year. Assume 365 days in a year.
What is the annual finance cost saving if the management reduces the collection period to 60 days?
A
$85,479

B
$394,521

C
$78,904

D
$68,384



(ACCA F9 Financial Management Pilot Paper 2014)

	Question 7 – Cash Operating Cycle, Working Capital Management and Factoring

Extracts from the recent financial statements of Anjo plc are as follows:
Income statements

2006

2005

$000

$000

Turnover

15,600

11,100

Cost of sales

9,300

6,600

Gross profit

6,300

4,500

Administration expenses

1,000

750

Profit before interest and tax

5,300

3,750

Interest

100

15

Profit before tax

5,200

3,735

Statement of financial position

2006

2005

$000

$000

$000

$000

Non-current assets

5,750

5,400

Current assets

Inventory

3,000

1,300

Receivables

3,800

1,850

Cash

120

900

6,920

4,050

Current liabilities

Trade payables

2,870

1,600

Overdraft

1,000

150

(3,870)

(1,750)

Total assets less current liabilities
8,800

7,700

All sales were on credit. Anjo plc has no long-term debt. Credit purchases in each year were 95% of cost of sales. Anjo plc pays interest on its overdraft at an annual rate of 8%. Current sector averages are as follows:
Inventory days: 90 days

Receivable days: 60 days

Payables days: 80 days

Required:
(a)
Calculate the following ratios for each year and comment on your findings.

(i)
Inventory days

(ii)
Receivables days

(iii)
Payables days



(6 marks)

(b)
Calculate the length of the cash operating cycle (working capital cycle) for each year and explain its significance.
(4 marks)

(c)
Discuss the relationship between working capital management and business solvency, and explain the factors that influence the optimum cash level for a business.
(7 marks)

(d)
A factor has offered to take over sales ledger administration and debt collection for an annual fee of 0.5% of credit sales. A condition of the offer is that the factor will advance Anjo plc 80% of the face value of its debtors at an interest rate 1% above the current overdraft rate. The factor claims that it would reduce outstanding debtors by 30% and reduce administration expenses by 2% per year if its offer were accepted.
Required:
Evaluate whether the factor’s offer is financially acceptable, basing your answer on the financial information relating to 2006.
(8 marks)


(Total 25 marks)


(ACCA 2.4 Financial Management and Control December 2006 Q3)


	Question 8 – Cash operating cycle and factoring
Extracts from the recent financial statements of Bold Co are given below.
$000
$000
Turnover

21,300

Cost of sales

16,400
Gross profit

4,900

$000

$000
Non-current assets

3,000

Current assets

Inventory

4,500

Trade receivables

3,500

8,000

Total assets

11,000

Current liabilities

Trade payables

3,000

Overdraft

3,000

6,000

Equity

Ordinary shares

1,000

Reserves

1,000

2,000

Non-current liabilities

Bonds

3,000

11,000

A factor has offered to manage the trade receivables of Bold Co in a servicing and factor-financing agreement. The factor expects to reduce the average trade receivables period of Bold Co from its current level to 35 days; to reduce bad debts from 0·9% of turnover to 0·6% of turnover; and to save Bold Co $40,000 per year in administration costs. The factor would also make an advance to Bold Co of 80% of the revised book value of trade receivables. The interest rate on the advance would be 2% higher than the 7% that Bold Co currently pays on its overdraft. The factor would charge a fee of 0·75% of turnover on a with-recourse basis, or a fee of 1·25% of turnover on a non-recourse basis. Assume that there are 365 working days in each year and that all sales and supplies are on credit.
Required:

(a)
Explain the meaning of the term ‘cash operating cycle’ and discuss the relationship between the cash operating cycle and the level of investment in working capital. Your answer should include a discussion of relevant working capital policy and the nature of business operations.
(7 marks)
(b)
Calculate the cash operating cycle of Bold Co. (Ignore the factor’s offer in this part of the question).
(4 marks)
(c)
Calculate the value of the factor’s offer:
(i)
on a with-recourse basis;

(ii)
on a non-recourse basis.
(7 marks)
(d)
Comment on the financial acceptability of the factor’s offer and discuss the possible benefits to Bold Co of factoring its trade receivables.
(7 marks)



(25 marks)


(ACCA F9 Financial Management December 2011 Q2)


	Question 9 – EOQ, JIT, changes in AR management policy and formulating working capital management policy
WQZ Co is considering making the following changes in the area of working capital management:
Inventory management

It has been suggested that the order size for Product KN5 should be determined using the economic order quantity model (EOQ).
WQZ Co forecasts that demand for Product KN5 will be 160,000 units in the coming year and it has traditionally ordered 10% of annual demand per order. The ordering cost is expected to be $400 per order while the holding cost is expected to be $5·12 per unit per year. A buffer inventory of 5,000 units of Product KN5 will be maintained, whether orders are made by the traditional method or using the economic ordering quantity model.
Receivables management

WQZ Co could introduce an early settlement discount of 1% for customers who pay within 30 days and at the same time, through improved operational procedures, maintain a maximum average payment period of 60 days for credit customers who do not take the discount. It is expected that 25% of credit customers will take the discount if it were offered.
It is expected that administration and operating cost savings of $753,000 per year will be made after improving operational procedures and introducing the early settlement discount.
Credit sales of WQZ Co are currently $87·6 million per year and trade receivables are currently $18 million. Credit sales are not expected to change as a result of the changes in receivables management. The company has a cost of short-term finance of 5·5% per year.
Required:

(a)
Calculate the cost of the current ordering policy and the change in the costs of inventory management that will arise if the economic order quantity is used to determine the optimum order size for Product KN5.
(6 marks)
(b)
Briefly describe the benefits of a just-in-time (JIT) procurement policy.
(5 marks)
(c)
Calculate and comment on whether the proposed changes in receivables management will be acceptable. Assuming that only 25% of customers take the early settlement discount, what is the maximum early settlement discount that could be offered?


(6 marks)
(d)
Discuss the factors that should be considered in formulating working capital policy on the management of trade receivables.
(8 marks)



(25 marks)


(ACCA F9 Financial Management December 2010 Q3)


III.
Accounts payable
24.
Tourmaline Ltd pays its major credit supplier 40 days after receiving the goods and receives no settlement discount. The supplier has recently offered the company revised credit terms of 3/10, net 40. (i.e. 3% discount allowed if payment is made within 10 days, otherwise payment in full within 40 days).
If Tourmaline Ltd refuses the settlement discount and pays in full after 40 days, what is the approximate, implied, interest cost that is incurred by the company per year?
A
10·3%

B
27·4%

C
28·2%

D
37·6%
25.
A product has an annual demand of 9,600 units, which is even throughout the year. The product costs $50 per unit and the cost of holding one unit is $60 per year. The order costs are $5 per order. The supplier offers a 4% discount for orders of at least 80 units.
What is the minimum annual total cost that can be incurred in trading in this product?
A
$460,800

B
$463,800

C
$466,200

D
$482,400
26.
Which of the following is NOT a potential hidden cost of increasing credit taken from suppliers?
A
Damage to goodwill

B
Early settlement discounts lost

C
Business disruption

D
Increased risk of bad debts
	Question 10 – Formulation of working capital policy, early settlement discount and bulk purchase discount
ZPS Co places monthly orders with a supplier for 10,000 components that are used in its manufacturing processes. Annual demand is 120,000 components. The current terms are payment in full within 90 days, which ZPS Co meets, and the cost per component is $7.50. The cost of ordering is $200 per order, while the cost of holding components in inventory is $1.00 per component per year.
The supplier has offered either a discount of 0.5% for payment in full within 30 days, or a discount of 3.6% on orders of 30,000 or more components. If the bulk purchase discount is taken, the cost of holding components in inventory would increase to $2.20 per component per year due to the need for a larger storage facility.
Assume that there are 365 days in the year and that ZPS Co can borrow short-term at 4.5% per year.
Required:

(a)
Discuss the factors that influence the formulation of working capital policy;
(7 marks)

(b)
Calculate if ZPS Co will benefit financially by accepting the offer of:
(i)
the early settlement discount;

(ii)
the bulk purchase discount.
(7 marks)


(ACCA F9 Financial Management June 2011 Q4(b))


IV.
Foreign trade management
27.
Which of the following methods may be used by a company to reduce the credit risk of foreign trades?

1
Open account

2
Early payment

3
Bills of exchange

4
Insurance

A
1, 2 and 4 only

B
1, 2 and 3 only

C
1, 3 and 4 only

D
2, 3 and 4 only

	Question 11 – Granting credit to foreign customers
Discuss how risks arising from granting credit to foreign customers can be managed and reduced.
(8 marks)


(ACCA F9 Financial Management June 2009 Q3(c))


Chapter 10 Cash and Funding Strategies
I.
Reasons for holding cash

1.
Although cash needs to be invested to earn returns, businesses need to keep a certain amount readily available.

Which of the following is not a reason for holding cash?

A
Movement motive

B
Transactions motive

C
Precautionary motive

D
Investment motive

II.
Cash budget and cash flow forecast

2.
JP Co has budgeted that sales will be $300,100 in January 20X2, $501,500 in February, $150,000 in March and $320,500 in April. Half of sales will be credit sales. 80% of receivables are expected to pay in the month after sale, 15% in the second month after sale, while the remaining 5% are expected to be bad debts. Receivables who pay in the month after sale can claim a 4% early settlement discount.
What level of sales receipts should be shown in the cash budget for March 20X2 (to the nearest $)?
A
290,084

B
298,108

C
580,168

D
596,216
3.
ABC Co’s cash budget highlights a short-term surplus in the near future.

Which of the following actions would be appropriate to make use of the surplus?

A
Pay suppliers earlier to take advantage of any prompt payment discounts

B
Buy back the company’s shares

C
Increase payables by delaying payment to suppliers

D
Invest in a long term deposit bank account

	Question 12 – Working Capital Financing Strategies, Cash Budgets and Risks of Granting Credit to Foreign Customers
The following financial information relates to HGR Co:
Statement of financial position at the current date (extracts)
$000

$000

$000

Non-current assets

48,965

Current assets

Inventory

8,160

Accounts receivable

8,775

16,935

Current liabilities

Overdraft

3,800

Accounts payable

10,200

14,000

Net current assets

2,935

Total assets less current liabilities

51,900

Cash flow forecasts from the current date are as follows:
Month 1

Month 2

Month 3

Cash operating receipts ($000)

4,220

4,350

3,808

Cash operating payments ($000)

3,950

4,100

3,750

Six-monthly interest on trade bonds ($000)

200

Capital investment ($000)

2,000

The finance director has completed a review of accounts receivable management and has proposed staff training and operating procedure improvements, which he believes will reduce accounts receivable days to the average sector value of 53 days. This reduction would take six months to achieve from the current date, with an equal reduction in each month. He has also proposed changes to inventory management methods, which he hopes will reduce inventory days by two days per month each month over a three-month period from the current date. He does not expect any change in the current level of accounts payable.
HGR Co has an overdraft limit of $4,000,000. Overdraft interest is payable at an annual rate of 6·17% per year, with payments being made each month based on the opening balance at the start of that month. Credit sales for the year to the current date were $49,275,000 and cost of sales was $37,230,000. These levels of credit sales and cost of sales are expected to be maintained in the coming year. Assume that there are 365 working days in each year.
Required:

(a)
Discuss the working capital financing strategy of HGR Co.
(7 marks)
(b)
For HGR Co, calculate:

(i)
the bank balance in three months’ time if no action is taken; and

(ii)
the bank balance in three months’ time if the finance director’s proposals are implemented.
Comment on the forecast cash flow position of HGR Co and recommend a suitable course of action.
(10 marks)


(Amended ACCA F9 Financial Management June 2009 Q3(a)&(b))


	Question 13 – Role of Financial Intermediaries, Financial Statement Forecasts, Working Capital Financing Policy and Financial Performance Forecasts

APX Co achieved a turnover of $16 million in the year that has just ended and expects turnover growth of 8·4% in the next year. Cost of sales in the year that has just ended was $10·88 million and other expenses were $1.44 million.
The financial statements of APX Co for the year that has just ended contain the following statement of financial position:
$m
$m
Non-current assets

22.0
Current assets

Inventory

2.4
Trade receivables

2.2

4.6

Total assets

26.6

Equity finance:

Ordinary shares

5.0

Reserves

7.5

12.5

Long-term bank loan

10.0

22.5

Current liabilities

Trade payables

1.9

Overdraft

2.2

4.1

Total equity and liabilities

26.6

The long-term bank loan has a fixed annual interest rate of 8% per year. APX Co pays taxation at an annual rate of 30% per year.
The following accounting ratios have been forecast for the next year:
Gross profit margin:

30%

Operating profit margin

20%

Dividend payout ratio

50%

Inventory turnover period:

110 days

Trade receivables period:

65 days

Trade payables period:

75 days

Overdraft interest in the next year is forecast to be $140,000. No change is expected in the level of non-current assets and depreciation should be ignored.
Required:
(a)
Prepare the following forecast financial statements for APX Co using the information provided:
(i)
an income statement for the next year; and

(ii)
a statement of financial position at the end of the next year.
(9 marks)
(b)
Analyse and discuss the working capital financing policy of APX Co.
(6 marks)
(c)
Analyse and discuss the forecast financial performance of APX Co in terms of working capital management.
(6 marks)


(Total 25 marks)



(Amended ACCA F9 Financial Management December 2009 Q4(b),(c)&(d))


III.
Treasury management

4.
Which of the following is NOT a common role of the treasury function within a firm?
A
Short-term management of resources

B
Long-term maximization of shareholder wealth

C
Long-term maximization of market share

D
Risk management
5.
Which of the following is a disadvantage of having a centralized treasury department in a large international group of companies?

A
No need for treasury skills to be duplicated throughout the group

B
Necessary borrowings can be arranged in bulk, at keener interest rates than for smaller amounts.

C
The group’s foreign currency risk can be managed much more effectively since they can appreciate the total exposure situation.

D
Local operating units should have a better feel for local conditions than head office and can respond more quickly to local developments.

	Question 14

Briefly describe the main functions of a treasury department.
(4 marks)


IV.
Cash management models
6.
Assumption 1: Amounts of cash required in future periods can be predicted with certainty.

Assumption 2: The opportunity cost of holding cash is known and it does not change over a period of time.

Which of the above, if either, is an assumption on which Baumol’s model of cash management is based?

A
Both Assumption 1 and Assumption 2

B
Assumption 1 only

C
Assumption 2 only

D
Neither Assumption 1 nor Assumption 2

7.
WW Co is a subsidiary of BB Co. WW Co requires $10 million in finance to be easily spread over the coming year, which BB Ltd will supply. Research shows:
There is a standing bank fee of $200 for each drawdown.

The interest cost of holding cash (ie finance cost less deposit interest) is 6% pa.
How much should WW Co draw down at a time (to the nearest $'000)?

A
$8,000

B
$67,000

C
$258,000

D
$26,000
8.
The treasury department in TB Co has calculated, using the Miller-Orr model, that the lowest cash balance they should have is $1m, and the highest is $10m. If the cash balance goes above $10m they transfer the cash into money market securities.
Which of the following is/are true?
1
When the balance reaches $10m they would buy $6m of securities

2
When the cash balance falls to $1m they will sell $3m of securities

3
If the variance of daily cash flows increases the spread between upper and lower limit will be increased.
A
1 and 2 only

B
3 only

C
2 and 3 only

D
1, 2 and 3
V.
Strategies for Funding Working Capital
9.
Which statement best reflects an aggressive working capital finance policy?
A
More short-term finance is used because it is cheaper although it is risky.

B
Investors are forced to accept lower rates of return.

C
More long-term finance is used as it is less risky.

D
Inventory levels are reduced.
10.
What are the 2 key risks for the borrower associated with short-term working capital finance?
A
Rate risk and renewal risk

B
Inflexibility and rate risk

C
Renewal risk and inflexibility

D
Maturity mismatch and renewal risk
11.
Which of the following statements concerning working capital management are correct?
1
The twin objectives of working capital management are profitability and liquidity

2
A conservative approach to working capital investment will increase profitability

3
Working capital management is a key factor in a company’s long-term success

A
1 and 2 only

B
1 and 3 only

C
2 and 3 only

D
1, 2 and 3



(ACCA F9 Financial Management Pilot Paper 2014)
	Question 15 – Working capital investment and working capital financing

Critically discuss the similarities and differences between working capital policies in the following areas:

(a)
Working capital investment;

(b)
Working capital financing.
(9 marks)



(ACCA F9 Financial Management Jun 2012 Q2(b)


Additional Examination Style Questions
Question 16 – Working capital policy and bulk purchase discount
Cat Co places monthly orders with a supplier for 10,000 components which are used in its manufacturing processes. Annual demand is 120,000 components. The current terms are payment in full within 90 days, which Cat Co meets, and the cost per component is $7·50. The cost of ordering is $200 per order, while the cost of holding components in inventory is $1·00 per component per year.
The supplier has offered a discount of 3·6% on orders of 30,000 or more components. If the bulk purchase discount is taken, the cost of holding components in inventory would increase to $2·20 per component per year due to the need for a larger storage facility.
Required:
(a)
Discuss briefly the factors which influence the formulation of working capital policy.


(6 marks)

(b)
Calculate if Cat Co will benefit financially by accepting the offer of the bulk purchase discount.
(4 marks)


(10 marks)

(ACCA F9 Financial Management Pilot Paper 2014)
Question 17 – Key Factors for the level of investment in current assets, calculation of OD, Factoring, invoicing discounting and EOQ
FLG Co has annual credit sales of $4·2 million and cost of sales of $1·89 million. Current assets consist of inventory and accounts receivable. Current liabilities consist of accounts payable and an overdraft with an average interest rate of 7% per year. The company gives two months’ credit to its customers and is allowed, on average, one month’s credit by trade suppliers. It has an operating cycle of three months.
Other relevant information:

Current ratio of FLG Co
1·4

Cost of long-term finance of FLG Co
11%
Required:
(a)
Discuss the key factors which determine the level of investment in current assets.


(6 marks)
(b)
Discuss the ways in which factoring and invoice discounting can assist in the management of accounts receivable.
(6 marks)
(c)
Calculate the size of the overdraft of FLG Co, the net working capital of the company and the total cost of financing its current assets.
(6 marks)
(d)
FLG Co wishes to minimise its inventory costs. Annual demand for a raw material costing $12 per unit is 60,000 units per year. Inventory management costs for this raw material are as follows:
Ordering cost:
$6 per order

Holding cost:
$0·5 per unit per year
The supplier of this raw material has offered a bulk purchase discount of 1% for orders of 10,000 units or more. If bulk purchase orders are made regularly, it is expected that annual holding cost for this raw material will increase to $2 per unit per year.
Required:

(i)
Calculate the total cost of inventory for the raw material when using the economic order quantity.
(4 marks)
(ii)
Determine whether accepting the discount offered by the supplier will minimise the total cost of inventory for the raw material.
(3 marks)


(Total 25 marks)



(ACCA F9 Financial Management June 2008 Q3)
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